| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
0,004

Y e
()] = . . . . . . . . .
DOTE

°’2;§:;::j::ggj:j:j:g:::j:jjgjjjjjjjgjjf;jjg;jj{\::;gj:j:j:;gjjjjjjjgjjjjjjjgjjjjjjj
‘;;21:;H+1W::

oo ylp
oot E 3
o+

Rati

=
!

0955 56-16-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_CKF_TTbase

| Efficiency vs Dz |

—— DQM_CKF_TT_retrainOldFiles125 v2_prelimWPM_epoch2

~N 0.1
©
9.09
Py
Hos
(&)
.07
()
0.06 : . :
R i
ooafi IR

0.03ff- [

L |
T
=

0.02

0.02- |+

OJ_.LOllllillllillllillllillllillll

Rati

09535 =20 20 30

TP dz (cm)



	Contents
	Page 1


